Answer on Question #50229 — Math — Complex Analysis

Use Residue theorem to compute

the integral from 0 to 2 pi
[ Sintheta] /[ 4+ sin (theta) + cos (theta) ] dtheta
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The isolated singular points of the function f(z) are z = {O; (1+i{—21\/§]}. All of them are

simple poles. Only z=0 and z = (1+ |{\/§ — 2] are inside the contour |z| =

The residues in these points are the following:
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According to the residue theorem,

=(1—i)(—l+§+@J=—i+5+@—l—§i—@i ——(4+\/ﬁ)+£+\/ﬁ.
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= n-((9+2\/ﬁ) +(8+2x/ﬂ))
Answer: (9+2\/ﬁ)7z+(8+ ZJﬁ)ﬂi .
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